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3.4.3. 
ZUSAMMENFASSUNG 

Er betrifft Beispiel 

1 DoS 'Magen' 
3 DlsW 'Gras' 
5 Plural 'Ross' 
6 a vor sch 'Asche' 
7 ä im Diminutiv 'Bächlein' 
8 e vor nK 'denken' 
9 germ e 'Weg' 
11 i vor oK 'Biss' 
13 i vor r + Kons 'Wirf 
15 o vor oK Gotta 
16 o vor r + Kons 'Korn' 
17 ö vor nK 'könnte' 
17a ce vor nK 'Föhn' 
18 ö vor r + Kons 'Körblein' 
19 u vor oK 'Küche' 
21 uvor r + Kons 'Wurzel' 
22 üvor oK 'Füchse' 
24 ü vor r + Kons 'Bürger' 
25 ä vor oK 'Adern' 
26 d vor nK 'Samen' 
27 ce vor nK 'käme' 
28 d vor nK 'Bohnen' 
30 ei vor oK 'Leiter' 
31 ei vor oK, Plural 'Seile' 
35 ei vor nK 'Stein' 
36 ei vor nK, Plural 'Steine' 
38 ou vor oK 'Auge' 
39 ö« vor oK 'Freude' 
40 ie vor nK 'Riemen' 
41 wo vor nK 'Blume' 
42 üe vor nK 'grün' 
48 d in -wd, -/cr1- 'Wald' 
50 s 'Eis' 
51 k im Anlaut 'Kasten' 
52 £ nach nK 'dunkel' 
53 ch intervokalisch 'machen' 
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